odl, [ i i f H
fgnc Lglﬁvﬁcﬂwlucj]ﬂ(umcsm F
e - =i
il y
< KO <
m
C WW = FGHIBM




i 3 ‘ AT 1 'Y IR TR T T Ovgo
{ 1Ny LA L TOIN LINS T RUCU T FUONS

LEASE READ CAREFULLY AND SAVE THESE INSTRUCTIONS
\S YOU MAY NEED THEM AT ALATER DATE.

AUTION — Turn off the main power at the circuit breaker before installing the
ixture, in order to prevent possible shock.

emove the fixture and the mounting package from the box and make sure
hat no parts are missing by referencing the illustrations on the installation
istructions.

=oed B T Y Sre *T

FOR CEILING MOUNT ( Fig. 4& 5)

A)Place the #8-32 HEX NUT(3) onto the #8-32 FXTURE MOUNTING
CREW(4). And attach the FIXTURE MOUNTING SCREW to the MOUNTING
ACKET(2).or universal mounting plate (whichever is provided). Do not tighten the
EX NUTS at this time.(Fig.4)

b i = M)

o

EX NUT(3) onto the NIPPLE, and screw the NIPPLE into the MOUNTING
RACKET(2j.without tightening the HEX NUT(3).(Fig.5)

2} Pull the power supply wires oul [fom the OUTLET BOX (1) and mount the

OUNTING BRACKET (2) or the universal mounting plate to the OUTLET BOX(1),

using MOUNTING SCREWS(10).
- Attach the power supply wirc to the fixture lead wire by connccting BLACK to

the SUPPLY GROUND WIRE(7) using a WIRE NUT(9)(not included).

Place the CANOPY(11) en the fixture over the OUTLET BOX(1) and onto the
ture mounting screws ( or NIPPLE 1 ,and adjust the #8-32 [ixture mountling
s¢rews (or NIPPLE) until they protrude out from the CANOPY(11) 1/4”. Remove the

NOPY(I11) and sccurce the position of the fixture mounting screw ( or NIPPLE) by
tightening the HEX NUT(S)(3) against the MOUNTING BRACKET(2). Place the

NOPY(11) back onto the fixture mounting screws,(or NIPPLE), and secure into
place using the DECORATIVE NUT(12) provided.

Screw in light bulbs that do not exceed the maximum wattage specified on the
ture's wattage rating label, into the socket(s) on the fixture.

STALLATION COMPLETED

FOR CHAIN-SUSPENDED CEILING MOUNT(Fig.6)

Take the parts out of the mounting package and thread a 1/8” IPS HEX NUT (5)
sgveral turns anto each end of the NIPPLE (4). Screw the end of the:NIPPLE (4)
sgveral turns into the threaded hole of the MOUNTING BRACKET (2) but do not
tighten the HEX NUTS (5). Pull the SUPPLY WIRES (9 & 11) and the GROUND
IRE (8) out from the OUTLET BOX (1) and attach the MOUNTING BRACKET
) assembly to the OUTLET BOX (1) using the slotted holes on the MOUNTING
ACKET (2) and the MOUNTING SCREWS (3) provided.

N Emn

Thread the SCREW COLLAR LOOP (6) anto the end of the NIPPLE (4) that is

facing down. Placc the CANOPY (15) over the OUTLET BOX (1) and adjust the

SCREW COLLAR LOOP (6) and NIPPLE (4) until the midpoint of the outside

cads on the SCREW COLLAR LOOP (6) is centered (aligned) with the surface of
CANOPY (15). Remove the CANOPY (15) and tighten the HEX NUTS (3)

down on the MOUNTING BRACKET (2) and the SCREW COLLAR LOOP (6).

3. Open up the end links of the CHAIN (17) and attach one end of the CHAIN (17)
onto the FIXTURE LOOP (18) (not shown) of the main section of the fixture. Slide
the THREADED RING (16) and the CANOPY (15) onta the CHATN (17) (in that
order) and attach the other end of the CHAIN (17) to the SCREW COLLAR LOOP
(6). Close the ends of the chain links.

4.| Unravel the fixture’s lead and ground wires and thread the them through every
other link of the CHAIN (17) and out through the SCREW COLLAR LOOP (6) and
NIPPLE (4) assembly, starting with the chain link attached to the FIXTURE LOOP
(1B) (not shown) of the main section of the fixture.

5. Attach the power supply wires o the tixture lead wires by connecting the
BLACK SUPPLY WIRE (9) to the SMOOTH FIXTURE LEAD WIRE (10) and the
WHITE SUPPLY WIRE (11) to the RIBBED FIXTURE LEAD WIRE (12). Loop
the FIXTURE GROUND WIRE (7) around the GROUND SCREW (14} of the
MDUNTING BRACKET (2). (Note: Be sure to provide an extra 3" length of the
GROUND SCREW (14). Connect the remaining FIXTURE GROUND WIRE (7) to
the SUPPLY GROUND WIRE (8) using a WIRE CONNECTOR (13) (not
ingluded). Place wiring and connections inside the OUTLET BOX (1).

6.|Slide the CANOPY (15) and the THREADED RING (16) up the CHAIN (17),

Place the CANOPY (15) over the OUTLET BOX (1) and secure in place by
screwing the THREADED RING (16) onto the SCREW COLLAR LOOP (6).

7.|Screw light bulbs into the lamp socket. Note: Make sure they do not exceed the
maximum wattage specified on the fixture’s wattage rating label,

STALLATION IS NOW COMPLETED

B) If the fixture uses a single 1/8”IPS NIPPLE(4) for mounting, thread the 1/8”IPS

LACK(6),and WHITE to WHITE(5). Connect the FIXTURE GROUND WIRE () to

LOUTLET BOX
2. MOUNTING BRACKET
3.#8/32 HEX NUT \ &
4FDXTURE MOUNTING § :

SCREW
5.WHITETO WHITE g

WIRE CONNECTION A
6.BLACK TO BLACK

WIRE CONNECTION 8
7.SUPPLY GROUND

WIRE ;

8.FIXTURE GROUND 11

WIRE
9.WIRE NUT

10.MOUNTING SCREW 12
I1.CANOPY
12.DECORATIVE NUT

I.LOUTLET BOX
2.MOUNTING BRACKET
3.1/8” IPS HEX NUT
4.NIPPLE

[—cn

" 5.WHITE TO WHITE

_ win, | \
WIRE CONNECTION 9 i E ;
6.BLACK TO BLACK

WIRE CONNECTION 8
7.SUPPLY GROUND WIRE 3
8. FIXTURE GROUND 4/

10

WIRE

9. WIRE NUT
10.MOUNTING SCREW
11.CANOPY

12. .DECORATIVE NUT

OUTLET BOX

MOUNTING BRACKET

MOUNTING SCREW

NIPPLE

1/8" [PS HEX NUT

SCREW COLLAR LOOP

FIXTURE GROUND

WIRE

8. GROUND WIRE

9. BLACK SUPPLY WIRE

10. SMOOTH FIXTURE
LEAD WIRE

11. WHITE SUPPLY WIRE

12. RIBBED FIXTURE
LEAD WIRE

13. WIRE CONNECTOR

14. GROUND SCREW

i5. CANOPY

16. THREADED RING

17. CHAIN

U SVipn By ==

Fig.6




. ) i 1.CAJA DE CONEXIONES FIGURA 4
EE}% EB\E/EE.SLEA CUIDADOSAMENTE ESTAS INSTRUCCIONES Y 2.ABRAZADERA DE MONTAJE
) 3.TUERCA HEXAGONAL #8-32 — 1
PUES PUEDE NECESITARLAS EN EL FUTURO. 4.TORNILLO DE MONTAJE DEL g ‘
2 . . 5 ACCESORIO
PRECAUCION — Descongele la linca de alimentacid rincipal ¢n cl intern d . |
mf cu%ta anics dc instalas cfacccsorrilo. a [in 0 prcvcnﬂ' Fpméllblfgs cﬁwqucs e ccB‘LI%Bs,C 5.CONEXION DE CABLE 6
Sdquc ¢l accesorio y ¢l p qucte de instalacjon de la caja y asegiresc de quc no falia BLANCD A BLANGO l 2 \
nihguna paric comparanéio con las ipuslramoncs de las mstrucgloncs c msLaTac:gn. 6.CONEXTON DE CABLE NEGRQ a 3
A NEGRO :
PARA MONTAR EN EL TECHO (Fig. 4& 5) e EALENTACION o b 4
B )
1| A)Coloque la TUERCA HEXAGONAL #832 (3) en el TORNILLO DE B.CABLE A TIERRA DEL Y 10
MONTAJE #8-32 (4), y una los TORNILLOS DE MONTAIJE ala RAQUETA DE ACCESORIO : L
MONTAJE (2) 0 a una placa de montaje universal (lo que se suministre). No apriete las | 9.TUERCA PARA CABLE 1
TYLERCAS HEXAGONALES cn csle momcento.(Fig.4) I0. TORNILLO DE MONTAJE
B) Si el accesorio usa un sola NIPLE IPS DE 1/8* (4) para el montaje, enrosque la 1L.DOSEL
TUFRCA HEXAGONAL IPS DF 1/8” (3) en cl NIPLE, y atornille ¢l NIPLE en [a 12. TUERCA DECORATIVA 12 o}
ABRAZADERA DE MONTAJE (2). sin apretar la TUERCA HEXAGONAL (3).
(Figura 5)
2. | Hale los cables de alimentacion fucra de 1a CAJA DE CONEXIONES (1) y monte la
ABRAZADERA DE MONTAJE (2) 0 la placa de montaje universal en la CAJA DE
CONEXIONES (1), usando los TORNILLOS DE MONTAIJE (10).
3. | Una el cable de alimentacicn al hilo conductor del accesorio conectando NEGRO
con NEGRO (6) y BLANCO con BLANCO (5). Conecte el CABLE A TIERRA DEL
AUCESORIO (8) al CABLE DE ALIMENTACION A TIERRA (7) usando una FIGURA 5
TUERCA PARA CABLE (9) (no incluida). 1.CAJA DE CONEXIONES
4. | Coloque ¢l DOSEL (11) en cl accesorio sobre la CAJA DE CONEXIONES (1)yen| ZABRAZADERA DE I
los|tornillos de montaje (o NIPLF), y ajuste los tornillos de montaje del accesorio #8-32 MONTAJE 5
(0 NIPLE) hasta que sobresalgan dei DOSEL (11) de "4”. Retire el DOSEL (11) y " 3.ITUERCA HEXAGONAL | 6
asepure la posicion de los tornillos de montaje del accesorio (o NIPLE) apretando las IPS DE 1/8" R \
TUERCAS HEXAGONALES (3) contra la ABRAZADERA DE MONTAIE (2). 4NIPLE 9 5 2
Coloque el DOSEL (1) de nuevo en los tomillos de montaje del accesorio (o NIPLE), y 5.CONEXION DE CAB )
; el ’ 2.0 1 LE
asepurelos en su lugar usando la TUERCA DECORATIVA (12) que se suministra. BLANCO A BLANCO /‘?
5. | Enrosque los bombillos en los zdcalos de la ldmpara y asegiirese de que no excedan | 6.CONEXION DE CABLE 8
la potencia (vatios) especificada en la etiqueta de clasificacion del accesorio, en los NEGRO A NEGRO / 10
séeates o en el accesorio. f 7.CABLEDE ALIMENTACION
IN§TALACION COMPLETA A TIERRA 1
” 8. CABLE A TIERRA DEL o
PARA MONTAJE EN EL TECHO SUSPENDIDA CON CADENA (Fig. 6) ACCESORIO
:)g' S(asn);u: las part:ls del pu;q;ete c[fc insl;]alc;:'lr;{é:x&(;scéue una TU]ERCA I-Ed}gﬂglOPr:EA:_‘;Ps de 9. TUERCA PARA CABLE 12 — 8
varias vueltas en cada extremo del . Enrosque ¢l extremo varias
vuelas en el hueco roscado de la ABRAZADERA DE MONTAJE (2) pero no apriete las 10.TORNILLO DE MONTAIE re—
TUBRCAS HEXAGONALES (2). Saguc los CABLES DE ALIMENTACION (9 y 11) y cl 11.DOSEL
CARLE DE TIERRA (8) de la CAJA DF CONEXIONES (1) y conecte la ABRAZADERA DE 12. TUERCA DECORATIVA ——
MONTATJE (2) a la CAJA DE CONEXIONES (1) usando los ojales perforados en la
ABRAZADERA DE MONTAJE (2) ¥y los TORNILLOS DE MONTAJE (3) que se suministran.
2. Eorosque ¢l COLLAR ROSCADO CON OJAL (6) cn ¢l cxtremo inferior del NIPLE (4) que -
da hacia abajo. Coloque el DOSFL (15) sobre la CAJA DE CONEXIONES (1) y ajuste el
COULAR ROSCADO CON QJAL (6) y el NIPLE (4) hasta que el punto medio de las roscas
extemas del COLLAR ROSCADO CON OJAL (6) esté alineado con la superficie del DOSEL
(15)|Retire el DOSEL (15) v apriete ambas TUERCAS HEXAGONALES (5) sobre la
ABRAZADERA DE MONTAJE (2)y ¢l COLLAR ROSCADO CON OJAL (6). | CAJA DE CONEXIONES
K A ALl 2. ABRAZADERA DE MONTAJE
3. Abra los eslabones terminales de la CADENA (17) ¥y unaatremo de la CADENA (17) en la 3. TORNILLO DE MONTAJE
ARGOLLA DE FIJACION (18) (no se muestra) de la seccion principal del accesorio. Neslice el 4. NIPLE
ANILLO ROSCADQ (16) y el DOSEL (15) en la CADENA (17) (en ese orden) y una ¢l otro 5. I'TUERCA IIEXAGONAL IPS
cxtremo de la CADENA (17) a ¢l COLLAR ROSCADO CUON OQIAL (6). Cierre los extremos de DE 1/8”
los eslabanes de la cadena. 6. COLLAR ROSCADOQ CON
QJAL
4. Destrence los hilos conductores del accesorio y el cable a tierra del accesorio y enréllelos 7. CABLE A TIERRA DEL
alrededor de cada dos eslaboues de la CADENA (17) a través de el COLLAR ROSCADO CON ACCESORIO
OJAL (6) y la armazon del NIPLE (4), comenzando con el eslabn unido a Ia ARGOLLA DE 8. CABLE A TIERRA
FLIALION (18) (no se muestra) de la seccin principal del accesorio. 9. CABLE DE ALIMENTACION
R
5. Una los cables de alimentacién a los hilos conductores del accesorio conectando el CABLE DE 10. ,::Eg C%NDUL‘TOR SUAVE
ALIMENTACION NEGRO (9)al 1HILO CONDUCTOR SUAVE DEL ACCESORIO((10) y el DEL ACCESORIO
CABI.E DE ALIMENTACION BLANCO (11) al HIL.O CONDUCTOR ACANALADQ DEL 11. CABLE DE ALIMENTACION
ACCESORIO (12). Enlace el CABLE A TIERRA DEL ACCESORIO (7) alrededor del ' BLANCO
TORNILLO A TIERRA (14) d¢ la ABRAZADERA DE MONTAJE (2). Asegirese de suministrar 12 lel O CONDUCTOR
un CABLE A TIERRA DEL ACCESORIO (14) con 3 pulgadas adicionales de largo. Conecte el : 'AN ALADO
otro CABLE A TIERRA DEL ACCESORIO (7) al CABLE DE ALIMENTACION A TIERRA (8) AC DEL ACCESORIO
usando un CONECTOR DE CABLE (13) (no incluido). Coloque el cableado y las conexiones 13. CONECTOR DE CABLE
dentro de la CAJA DE CONEXIONES (1), :‘s‘ nggil'f'o A TIERRA
6. Daslice el DOSEL (15) y el ANILLO ROSCADO (16) hacia arriba en la CADENA (17). 16. ARO ROSCADO
Coloque el DOSEL (15) sobre la CAJA DE CONEXIONES (1) y asegirelo en su lugar 17. CADENA

atorniflando el ANILLO ROSCADO (16) en el COLLAR ROSCADO CON OJAL (6).

7. Enrosque los bombillos en los sécates de la lampara. Nota: Aseglrese de que no excedan la
patencia (vatios) maxima especificada en la etiqueta de clasificacion del accesorio.

AH

INSTRUCCI

ONES DE INSTALACION

ORA ESTA COMPLETA LA INSTALACION




